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29. The IASB believes that the asset-liability method is the most consistent method for accounting for income taxes. The basic
principles of this method include

L. A current tax liability or asset is recognized for the estimated taxes payable or refundable on the tax retumn for the current
year.

IL A deferred tax liability or asset is recognized for the estimated future tax effects attributable to témporary differences and
carryforwards, ' '

III. The measurement of current and deferred tax liabilities and assets is based on provisions of the enacted tax law.

IV. The measurement of deferred tax assets is reduced, if necessary, by the amount of any tax benefits that, based on available
evidence, are not expected to be realized.

How many items listed above are correct?
(A) one item (B) two items (C) three items (D) four items

Use the following information for questions 30 and 31.

30. In early 2023, Allegion Co. acquired an asset for $600,000, anticipating a useful life of 5 years and an estimated residual
value of $50,000. The asset is depreciated using the straight-line method for financial reporting purposes, while the double-
declining-balance method is applied for tax purposes. Allegion Co.'s tax rate is 40% for 2023 and all subsequent years.

What is the book basis and tax basis of the asset at the end of 20232

Book basis Tax basis

(A) $440,000 $310,000
(B) $490,000 $310,000
(C) $490,000 $360,000
(D) $440,000 $360,000

31. At the end of 2023, which of the following deferred tax accounts and balances is reported on Allegion’s statement of
financial position?

Account Balance
(A) Deferred tax asset $52,000
(B) Deferred tax liability  $52,000
(C) Deferred tax asset $78,000
(D) Deferred tax liability  $78,000

32.1n 2017, the accounting profit of Zhenghao Company was $850,000. The company's accounting profit differs from taxable
income in the following ways:

(1) Refrigeration equipment was purchased on January 1, 2017, at a cost of $60,000, with an estimated useful life of 4 years
and no residual value. Depreciation is recorded using the straight-line method for accounting purposes, while the sum-of-years-
digits method is used for tax reporting,

*(2) At the end of 201 7, foreign currency accounts recejvable were revalued at the year-end exchange rate, resulting in a
recognized exchange rate loss of $14,000. According to the tax law, this loss is only recognized when the actual collection
occurs. In Taiwan, starting from the fiscal year 2018, the corporate income tax rate increased from 17% to 20%. In 2018,
Zhenghao Company's accounting profit was $1,000,000, with no other transactions causing differences between accounting
profit and taxable income.

L Income tax payable for 2017 is $145,350
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IL Income tax payable for 2018 is $196,600

II.  Income tax expense for 2017 is $144,500

IV.  Income tax expense for 2018 is $160,840

How many items listed above are correct?

(A) one item (B) two items (C) three items (D) four items

33.If, at the end of a period, a company erroneously omitted certain goods from its ending tnventory and also failed to record
the purchase of these goods in its accounting records, these errors would cause

I the ending inventory and retained earnings to be understated.

Il the ending inventory, cost of goods sold, and retained earnings to be understated.

III.  no effect on net income, working capital, and retained earnings.

IV. cost of goods sold and net income to be understated.

How many items listed above are correct?

(A) one item (B) two items (C) three items (D) four items

34. Swift Company purchased a machine on January 1, 2019, for $300,000. At the date of acquisition, the machine had an

estimated useful life of six years with no residual value. The machine is being depreciated on a straight-line basis. On J anuary

1, 2022, Swift determined, as a result of additional information, that the machine had an estimated useful life of eight years

from the date of acquisition with no residual value. An accounting change was made in 2022 to reflect this additional

information.

Assume that the direct effects of this change are limited to the effect on depreciation and the related tax provision and that the

income tax rate was 30% in 2019, 2020, 2021, and 2022.

L The amount reported in Swift's income statement for the year ended December 31, 2022, as the cumulative effect on
prior years of changing the estimated useful life of the machine is $0. _

IL The amount reported in Swift's income statement for the year ended December 31, 2022, as the cumulative effect on
prior years of changing the estimated useful life of the machine is $20,000.

II.  The depreciation expense on this machine that should be charged in Swift's income statement for the year ended
December 31, 2022 is $30,000. .

IV.  The accumulated depreciation of this machine for the year ended December 31 , 2021 is $150,000.

How many items listed above are correct?
(A) one item (B) two items (C) three items (D) four items

35. Alliant Energy reported net income of $500,000 in 2023. Depreciation expense was $19,000.
The following accounts changed during 2023:

Accounting receivable 21,000 decrease
Prepaid insurance 16,000 increase
Inventory 7,300 increase
Land 7 3,000 increase
Accounts payable 12,200 increase
Long-term notes payable 8,000 increase

If Alliant Energy uses IFRS reporting and the indirect method, what amount are the adjustments to reconcile net income to net
cash provided by or (used in) operating activities?

(A) $20,900

(B) $28,900
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(C) $12,900
(D) $17,900

36. Presented below is information related to the pension plan of Amcor Inc, for the year 2023,
®  The service cost related to pension expense is $240,000 using the defined benefits approach.
®  The defined benefit obligation and plan assets at the beginning of the year are £300,000 and $280,000, respectively. The
discount rate is 10%.
® The plan was modified on January 1, 2023 resulting in past service cost of § 140,000.
®  The contribution made to the pension fund in 2023 was $231,000.
Determine the pension expense to be reported on the income statement for 2023.
L The pension expense to be reported on the income statement for 2023 is $3 96,000
1L Amcor Inc. credit pension Assets/Liabilities account for 165,000 for 2023,
III.  Interest on defined benefit obligation for 2023 is $44,000.
IV.  Interest revenue on plan assets for 2023 is $28,000.

How many items listed above are correct?
(A) one item (B) two items (C) three items (D) four items

37. Ametek Company, as lessee, enters into a lease agreement on July 1, 2022, for equipment. The following data are relevant

to the lease agreement:

®  The term of the noncancelable lease is 4 years. Payments of €978,446 are due on July 1 of each year, beginning on July 1
2022.

®  The fair value of the equipment on July 1, 2022 is €3,500,000. The equipment has an economic life of 6 years with no
salvage value.

2

®  Ametek depreciates similar machinery it owns on the sum-of-the-years’-digits basis.

The lessee pays all executory costs.

® Ametek’s incremental borrowing rate is 10% per year. The lessee is-aware that the lessor used an implicit rate of 8% in
computing the lease payments

(present value factor of an ordinary annuity for 4 periods at 8%, 3.57710; at 10%, 3.48685).

How many of the following statements are correct?

(A) one item (B) two items (C) three items (D) four items

I The type of lease Ametek Company has entered into is a finance lease.

II.  Ametek debited Right-of-Use Asset for $3,500,000 on July 1, 2022.

{lI.  Ametek credited Lease Liability for $2,521,554 on July 1, 2022.

IV.  The amount of depreciation expense related to this lease contract in 2022 is $700,000

38. Which of the following statements is incorrect?

(A) If changes in actuarial assumptions and experience adjustments result in a decrease in the present value of the defined
benefit obligation, the impact is recognized as actuarial gains.

(B) If changes in actuarial assumptions and experience adjustments result in an increase in the present value of the defined
benefit obligation, the impact is recognized as actuarial losses.

(C) If the actual return on plan assets exceeds the expected return, this portion will be recognized in other comprehensive
income (OCI).

(D) The accumulated benefit obligation bases the deferred compensation amount on both vested and nonvested service using

BERH
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39. In 2023, Biogen Corporation discovered that equipment purchased on January 1, 2021, for $52,500 was expensed at that
time. The equipment should have been depreciated over 5 years, with no residual value. The effective tax rate is 30%. Biogen’s
2023 journal entry to correct the error would include

(A) a credit to Retained Earnings for $22,050

(B) a credit to Equipment for $52,500.

(C) a credit to Deferred Tax Liability for $15,750.

(D) a credit to Accummulated Depreciation for $21,000.

40. How many of the following statements are correct?
(A) one item (B) two items (C) three items (D) four items

I In a finance lease, the lessee generally reports higher total expenses in the earlier years of the leased asset’s life.

I1. For low-value leases, the lessee can expense the lease payments as incurred rather than recording a right-of-use asset.

1I1. In computing the annual lease payments, the lessor deducts both guaranteed and unguaranteed residual values from the
fair value of a leased asset.

IV.  The gross profit amount in a sales-type lease is greater when a guaranteed residual value exists.
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